Bid Tabulation: CP2315, R Street SE Preservation - 33rd St SE to 37th Way SE, 24-09 Engineer's Estimate Active Construction Inc (ACI) Reed Trucking & Excavating Inc. PO BOX 430 11616 24th Ave E Schedule: A - Fund - Roadway Prepared By: City of Auburn Puyallup, WA 98371 Tacoma, WA 98445 Bid Date: March 21, 2024 **Unit Price** Item # Sec# Description Quantity Unit **Total Price Unit Price Total Price Unit Price Total Price** 1 1-04 Minor Change 35000.00 **EST** \$1.00 \$35,000.00 \$1.00 \$35,000.00 \$1.00 \$35,000.00 2 LS 1-05 Construction 1.00 \$1,500.00 \$1,500.00 \$500.00 \$500.00 \$500.00 \$500.00 Record Drawings (Minimum Bid \$500) 3 1-07 SPCC Plan 1.00 LS \$1,500.00 \$150.00 \$150.00 \$500.00 \$500.00 \$1,500.00 LS 4 1-09 Mobilization 1.00 \$167,900.00 \$167,900.00 \$187,094.79 \$187,094.79 \$150,000.00 \$150,000.00 5 1-10 Project Temporary 1.00 LS \$150,000.00 \$150,000.00 \$230,000.00 \$230,000.00 \$404,000.00 \$404,000.00 Traffic Control 6 2-01 Clearing and 1.00 LS \$7,000.00 \$7,000.00 \$7,700.00 \$7,700.00 \$5,200.00 \$5,200.00 Grubbing 7 2-01 Tree Removal \$19,500.00 39.00 EΑ \$500.00 \$19,500.00 \$1,400.00 \$54,600.00 \$500.00 8 2-02 Removal of 1.00 LS \$2,000.00 \$2,000.00 \$25,500.00 \$25,500.00 \$3,600.00 \$3,600.00 Structures and Obstructions 9 2-02 Removal of 3405.00 SY \$8.00 \$27,240.00 \$12.50 \$42,562.50 \$12.00 \$40,860.00 **Asphalt Pavement** 10 2-02 Removing Cement 1400.00 SY \$12.00 \$16,800.00 \$10.00 \$14,000.00 \$20.00 \$28,000.00 Conc. Sidewalk Removal of Curb LF 11 2-02 2532.00 \$8.00 \$20,256.00 \$5.00 \$12,660.00 \$5.00 \$12,660.00 and Gutter 12 2-02 Removal of 39.00 SY \$12.00 \$468.00 \$19.00 \$741.00 \$50.00 \$1,950.00 Cement Conc. Driveway 13 2-02 Remove and Reset 1.00 LS \$2,200.00 \$2,200.00 \$6,000.00 \$6,000.00 \$1,500.00 \$1,500.00 Miscellaneous Items

Schedule: A Prepared By	on: CP2315, R Stre - Fund - Roadway : City of Auburn arch 21, 2024	eet SE Preservation - 33rd St y	SE to 37th Way S	SE , 24-09	Engineer's Esti	mate	Active Constructi PO BOX 430 Puyallup, WA 983		Reed Trucking & Ex 11616 24th Ave E Tacoma, WA 98445	-
Item #	Sec #	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
14	2-02	Removing Monument Case and Cover	1.00	EA	\$400.00	\$400.00	\$305.00	\$305.00	\$100.00	\$100.00
15	2-02	Remove and Reset Fencing	40.00	LF	\$30.00	\$1,200.00	\$80.00	\$3,200.00	\$65.00	\$2,600.00
16	2-02	Remove Manhole	5.00	EA	\$1,500.00	\$7,500.00	\$515.00	\$2,575.00	\$350.00	\$1,750.00
17	2-02	Remove Catch Basin	12.00	EA	\$1,000.00	\$12,000.00	\$346.00	\$4,152.00	\$250.00	\$3,000.00
18	2-03	Roadway Excavation Incl. Haul	1070.00	CY	\$30.00	\$32,100.00	\$47.50	\$50,825.00	\$70.00	\$74,900.00
19	2-03	Gravel Borrow Incl.Haul	500.00	TON	\$35.00	\$17,500.00	\$43.00	\$21,500.00	\$35.00	\$17,500.00
20	2-09	Shoring or Extra Excavation Class B	3465.00	SF	\$1.00	\$3,465.00	\$0.01	\$34.65	\$1.00	\$3,465.00
21	4-04	Crushed Surfacing Top Course	415.00	TON	\$42.00	\$17,430.00	\$52.75	\$21,891.25	\$50.00	\$20,750.00
22	4-04	Crushed Surfacing Base Course	1441.00	TON	\$42.00	\$60,522.00	\$42.00	\$60,522.00	\$40.00	\$57,640.00
23	5-04	HMA Cl. 1/2 In. PG 58H-22	1042.00	TON	\$112.00	\$116,704.00	\$131.00	\$136,502.00	\$135.00	\$140,670.00
24	5-04	HMA Cl. 1 In. PG 58H-22	536.00	TON	\$105.00	\$56,280.00	\$131.00	\$70,216.00	\$135.00	\$72,360.00
25	5-04	HMA Cl. 3/8 In. PG 58H-22	173.00	TON	\$125.00	\$21,625.00	\$130.00	\$22,490.00	\$135.00	\$23,355.00
26	5-04	Planing Bituminous Pavement	5600.00	SY	\$7.00	\$39,200.00	\$8.00	\$44,800.00	\$8.00	\$44,800.00

Schedule: A Prepared By	on: CP2315, R Stre - Fund - Roadway r: City of Auburn arch 21, 2024	eet SE Preservation - 33rd St /	SE to 37th way s	SE , 24-09	Engineer's Estir	nate	Active Construction PO BOX 430 Puyallup, WA 983		Reed Trucking & Ex 11616 24th Ave E Tacoma, WA 98445	
ltem #	Sec #	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
27	5-08	Colored Stamped Cement Concrete	293.00	SY	\$175.00	\$51,275.00	\$165.00	\$48,345.00	\$150.00	\$43,950.00
28	7-04	Solid Wall PVC Storm Pipe, SDR- 35, 12 In. Diam.	310.00	LF	\$100.00	\$31,000.00	\$69.00	\$21,390.00	\$88.00	\$27,280.00
29	7-04	Ductile Iron Pipe, Special Class 52, Storm Pipe, 12 In. Diam.	35.00	LF	\$150.00	\$5,250.00	\$130.00	\$4,550.00	\$125.00	\$4,375.00
30	7-04	Storm Sewer Television Inspection	345.00	LF	\$5.00	\$1,725.00	\$8.50	\$2,932.50	\$15.00	\$5,175.00
31	7-04	Reducer Connection	5.00	EA	\$5,000.00	\$25,000.00	\$1,100.00	\$5,500.00	\$1,000.00	\$5,000.00
32	7-05	Catch Basin Type 1	9.00	EA	\$2,100.00	\$18,900.00	\$2,300.00	\$20,700.00	\$2,000.00	\$18,000.00
3	7-05	Manhole Ring and Solid Cover	4.00	EA	\$1,000.00	\$4,000.00	\$1,250.00	\$5,000.00	\$750.00	\$3,000.00
34	7-05	Catch Basin Type 2 48 In. Diam.	2.00	EA	\$4,800.00	\$9,600.00	\$5,100.00	\$10,200.00	\$3,200.00	\$6,400.00
35	7-05	Adjust Manhole	4.00	EA	\$500.00	\$2,000.00	\$824.00	\$3,296.00	\$750.00	\$3,000.00
6	7-08	Pipe Foundation Material	93.00	TON	\$45.00	\$4,185.00	\$45.00	\$4,185.00	\$35.00	\$3,255.00
37	7-08	Pipe Zone Bedding	157.00	TON	\$45.00	\$7,065.00	\$44.00	\$6,908.00	\$35.00	\$5,495.00
38	7-08	Select Pipe Trench Backfill	103.00	TON	\$35.00	\$3,605.00	\$45.00	\$4,635.00	\$35.00	\$3,605.00
9	7-08	Controlled Density Fill (CDF) for Filling Pipe	3.00	CY	\$600.00	\$1,800.00	\$835.00	\$2,505.00	\$300.00	\$900.00

Schedule: A Prepared By	on: CP2315, R Stre Fund - Roadway y: City of Auburn larch 21, 2024	et SE Preservation - 33rd St	: SE to 37th Way S	SE , 24-09	Engineer's Estir	nate	Active Construction PO BOX 430 Puyallup, WA 983		Reed Trucking & Ex 11616 24th Ave E Tacoma, WA 98445	cavating Inc.
Item #	Sec #	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
40	7-09	Connect to Existing Water Main	2.00	EA	\$3,000.00	\$6,000.00	\$2,700.00	\$5,400.00	\$2,000.00	\$4,000.00
41	7-09	Special Class 52 Ductile Iron Pipe for Water Main, 6 In. Diam.	40.00	LF	\$100.00	\$4,000.00	\$154.00	\$6,160.00	\$125.00	\$5,000.00
42	7-12	Adjust Valve Box	10.00	EA	\$700.00	\$7,000.00	\$586.00	\$5,860.00	\$500.00	\$5,000.00
43	7-15	Replace Water Meter Box and Adjust Lid to Grade	10.00	EA	\$1,000.00	\$10,000.00	\$917.00	\$9,170.00	\$750.00	\$7,500.00
44	7-15	Water Service Connection ³ / ₄ in. Meter with 1 in. Diam. Service Line	1.00	EA	\$3,000.00	\$3,000.00	\$4,500.00	\$4,500.00	\$3,000.00	\$3,000.00
45	8-01	TESC Plan	1.00	LS	\$1,500.00	\$1,500.00	\$150.00	\$150.00	\$500.00	\$500.00
46	8-01	Erosion/Water Pollution Control	5000.00	EST	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
47	8-01	Inlet Protection	21.00	EA	\$100.00	\$2,100.00	\$88.00	\$1,848.00	\$85.00	\$1,785.00
48	8-01	Silt Fence	300.00	LF	\$8.00	\$2,400.00	\$6.50	\$1,950.00	\$6.00	\$1,800.00
49	8-01	General Permit Documentation Compliance	1.00	LS	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00
50	8-01	ESC Lead	45.00	DAY	\$60.00	\$2,700.00	\$1.00	\$45.00	\$50.00	\$2,250.00
51	8-02	Roadside Restoration	30000.00	EST	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00

Schedule: A Prepared By	on: CP2315, R Str - Fund - Roadwa r: City of Auburn arch 21, 2024	eet SE Preservation - 33rd St y	SE to 37th Way S	SE , 24-09	Engineer's Estir	nate	Active Constructi PO BOX 430 Puyallup, WA 983		Reed Trucking & Ex 11616 24th Ave E Tacoma, WA 98445	cavating Inc.
Item #	Sec #	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
52	8-02	PSIPE Arctostaphylos uva ursi 'Point Reyes' #1 Cont	1386.00	EA	\$15.00	\$20,790.00	\$16.00	\$22,176.00	\$18.00	\$24,948.00
53	8-02	PSIPE Lavandula angustifolia 'Hidcote Blue' #1 Cont	132.00	EA	\$20.00	\$2,640.00	\$18.00	\$2,376.00	\$21.00	\$2,772.00
54	8-02	PSIPE Nandina domestica ' Gulfstream' #1 Cont	99.00	EA	\$20.00	\$1,980.00	\$22.00	\$2,178.00	\$21.00	\$2,079.00
55	8-02	PSIPE Nassella tenuissima #1 Cont	132.00	EA	\$20.00	\$2,640.00	\$18.00	\$2,376.00	\$21.00	\$2,772.00
56	8-02	Bark Mulch	59.00	CY	\$70.00	\$4,130.00	\$87.00	\$5,133.00	\$70.00	\$4,130.00
57	8-02	Fine Compost	65.00	CY	\$75.00	\$4,875.00	\$101.00	\$6,565.00	\$70.00	\$4,550.00
58	8-02	Topsoil Type A	98.00	CY	\$70.00	\$6,860.00	\$78.00	\$7,644.00	\$70.00	\$6,860.00
59	8-02	Seeded Lawn Installation	67.00	SY	\$3.00	\$201.00	\$9.50	\$636.50	\$3.00	\$201.00
60	8-02	Project Area Weed and Pest Control	5000.00	EST	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
61	8-03	Cement Conc. Traffic Curb and Gutter	2705.00	LF	\$30.00	\$81,150.00	\$29.50	\$79,797.50	\$30.00	\$81,150.00
62	8-04	Cement Conc. Traffic Curb	338.00	LF	\$28.00	\$9,464.00	\$34.50	\$11,661.00	\$40.00	\$13,520.00

Schedule: A Prepared By	on: CP2315, R Stro Fund - Roadwa /: City of Auburn larch 21, 2024	eet SE Preservation - 33rd St y	SE to 37th Way S	SE, 24-09	Engineer's Esti	mate	Active Constructi PO BOX 430 Puyallup, WA 983		Reed Trucking & Ex 11616 24th Ave E Tacoma, WA 98445	
ltem #	Sec #	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
63	8-04	Cement Conc. Pedestrian Curb - Variable Height	548.00	LF	\$30.00	\$16,440.00	\$30.50	\$16,714.00	\$30.00	\$16,440.00
64	8-06	Residential Driveway Apron	51.00	SY	\$110.00	\$5,610.00	\$117.00	\$5,967.00	\$100.00	\$5,100.00
65	8-09	Raised Pavement Markers	97.00	EA	\$3.00	\$291.00	\$13.00	\$1,261.00	\$16.50	\$1,600.50
66	8-12	Chain Link Fence Type 6	14.00	LF	\$25.00	\$350.00	\$90.50	\$1,267.00	\$100.00	\$1,400.00
67	8-13	Monument Type A (Modified)	5.00	EA	\$750.00	\$3,750.00	\$730.00	\$3,650.00	\$2,500.00	\$12,500.00
68	8-14	Cement Conc. Sidewalk	715.00	SY	\$75.00	\$53,625.00	\$64.00	\$45,760.00	\$80.00	\$57,200.00
69	8-14	Cement Conc. Curb Ramp Type Perpendicular	2.00	EA	\$2,700.00	\$5,400.00	\$2,850.00	\$5,700.00	\$3,500.00	\$7,000.00
70	8-14	Cement Conc. Curb Ramp Type Single Direction	16.00	EA	\$6,800.00	\$108,800.00	\$2,850.00	\$45,600.00	\$4,500.00	\$72,000.00
71	8-18	Mailbox Support Type 1	1.00	EA	\$1,000.00	\$1,000.00	\$875.00	\$875.00	\$750.00	\$750.00
72	8-18	Mailbox Support Type 2	1.00	EA	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00	\$750.00	\$750.00
73	8-20	Illumination System, Complete	1.00	LS	\$278,000.00	\$278,000.00	\$244,300.00	\$244,300.00	\$250,000.00	\$250,000.00
74	8-20	RRFB System Foundations and Conduit	1.00	LS	\$16,000.00	\$16,000.00	\$12,800.00	\$12,800.00	\$15,000.00	\$15,000.00

Schedule: A Prepared By	on: CP2315, R Str - Fund - Roadwa r: City of Auburn arch 21, 2024	eet SE Preservation - 33rd St y	SE to 37th Way S	E, 24-09	Engineer's Est	imate	Active Construct PO BOX 430 Puyallup, WA 98		Reed Trucking & E 11616 24th Ave E Tacoma, WA 9844	-
ltem #	Sec #	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
75	8-20	Signal Interconnect System, Complete	1.00	LS	\$84,000.00	\$84,000.00	\$38,400.00	\$38,400.00	\$40,000.00	\$40,000.00
76	8-21	Permanent Signing	1.00	LS	\$25,000.00	\$25,000.00	\$10,650.00	\$10,650.00	\$13,000.00	\$13,000.00
77	8-22	Plastic Crosswalk Line	800.00	SF	\$10.00	\$8,000.00	\$7.50	\$6,000.00	\$12.00	\$9,600.00
78	8-22	Plastic Traffic Arrow	9.00	EA	\$230.00	\$2,070.00	\$266.00	\$2,394.00	\$400.00	\$3,600.00
79	8-22	Paint Line	1980.00	LF	\$1.25	\$2,475.00	\$1.50	\$2,970.00	\$2.75	\$5,445.00
80	8-22	Plastic Stop Line	170.00	LF	\$18.00	\$3,060.00	\$11.00	\$1,870.00	\$17.00	\$2,890.0
81	8-23	Temporary Misc. Pavement Markings - Short Duration	30.00	EA	\$100.00	\$3,000.00	\$80.00	\$2,400.00	\$50.00	\$1,500.00
82	8-23	Temporary Pavement Marking - Short Duration	15000.00	LF	\$0.70	\$10,500.00	\$1.00	\$15,000.00	\$0.50	\$7,500.00
					Subtotal	\$1,846,996.00	Subtotal	\$1,877,571.69	Subtotal	\$2,035,187.50
					Tax	\$0.00	Tax	\$0.00	Tax	\$0.00
					Total	\$1,846,996.00	Total	\$1,877,571.69	Total	\$2,035,187.5

Schedule: A Prepared By	on: CP2315, R Stro - Fund - Roadwa /: City of Auburn arch 21, 2024	eet SE Preservation - 33rd St SE y	to 37th Way SE ,	24-09	Tucci & Sons In 4224 Waller Roa Tacoma, WA 98	ad	Ceccanti Inc. 4116 Brookdale Tacoma, WA 98		ICON Materials 1508 Valentine Pacific, WA 9804	Ave SE
Item #	Sec #	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	1-04	Minor Change	35000.00	EST	\$1.00	\$35,000.00	\$1.00	\$35,000.00	\$1.00	\$35,000.00
2	1-05	Construction Record Drawings (Minimum Bid \$500)	1.00	LS	\$500.00	\$500.00	\$865.00	\$865.00	\$500.00	\$500.00
3	1-07	SPCC Plan	1.00	LS	\$300.00	\$300.00	\$375.00	\$375.00	\$180.00	\$180.00
4	1-09	Mobilization	1.00	LS	\$247,000.00	\$247,000.00	\$215,000.00	\$215,000.00	\$105,000.00	\$105,000.00
5	1-10	Project Temporary Traffic Control	1.00	LS	\$225,000.00	\$225,000.00	\$323,226.00	\$323,226.00	\$175,000.00	\$175,000.00
6	2-01	Clearing and Grubbing	1.00	LS	\$15,840.00	\$15,840.00	\$10,000.00	\$10,000.00	\$9,300.00	\$9,300.00
7	2-01	Tree Removal	39.00	EA	\$1,200.00	\$46,800.00	\$1,296.00	\$50,544.00	\$560.00	\$21,840.00
8	2-02	Removal of Structures and Obstructions	1.00	LS	\$3,216.00	\$3,216.00	\$7,500.00	\$7,500.00	\$4,200.00	\$4,200.00
9	2-02	Removal of Asphalt Pavement	3405.00	SY	\$17.50	\$59,587.50	\$7.00	\$23,835.00	\$20.00	\$68,100.00
10	2-02	Removing Cement Conc. Sidewalk	1400.00	SY	\$17.50	\$24,500.00	\$8.00	\$11,200.00	\$40.00	\$56,000.00
11	2-02	Removal of Curb and Gutter	2532.00	LF	\$17.50	\$44,310.00	\$4.00	\$10,128.00	\$13.00	\$32,916.00
12	2-02	Removal of Cement Conc. Driveway	39.00	SY	\$17.50	\$682.50	\$20.00	\$780.00	\$26.00	\$1,014.00
13	2-02	Remove and Reset Miscellaneous Items	1.00	LS	\$3,750.00	\$3,750.00	\$2,620.00	\$2,620.00	\$4,300.00	\$4,300.00
14	2-02	Removing Monument Case and Cover	1.00	EA	\$450.00	\$450.00	\$1,330.00	\$1,330.00	\$1,300.00	\$1,300.00

Schedule: A Prepared By	on: CP2315, R Stre - Fund - Roadway : City of Auburn arch 21, 2024	eet SE Preservation - 33rd St SE y	to 37th Way SE ,	24-09	Tucci & Sons In 4224 Waller Ro Tacoma, WA 98	ad	Ceccanti Inc. 4116 Brookdale Tacoma, WA 98		ICON Materials 1508 Valentine Pacific, WA 980	
Item #	Sec #	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
15	2-02	Remove and Reset Fencing	40.00	LF	\$120.00	\$4,800.00	\$60.00	\$2,400.00	\$120.00	\$4,800.00
16	2-02	Remove Manhole	5.00	EA	\$950.00	\$4,750.00	\$1,040.00	\$5,200.00	\$840.00	\$4,200.00
17	2-02	Remove Catch Basin	12.00	EA	\$790.00	\$9,480.00	\$881.00	\$10,572.00	\$420.00	\$5,040.00
18	2-03	Roadway Excavation Incl. Haul	1070.00	CY	\$78.00	\$83,460.00	\$33.00	\$35,310.00	\$55.00	\$58,850.00
19	2-03	Gravel Borrow Incl.Haul	500.00	TON	\$79.00	\$39,500.00	\$33.00	\$16,500.00	\$30.00	\$15,000.00
20	2-09	Shoring or Extra Excavation Class B	3465.00	SF	\$0.30	\$1,039.50	\$0.40	\$1,386.00	\$1.25	\$4,331.25
21	4-04	Crushed Surfacing Top Course	415.00	TON	\$81.00	\$33,615.00	\$31.00	\$12,865.00	\$55.00	\$22,825.00
22	4-04	Crushed Surfacing Base Course	1441.00	TON	\$61.00	\$87,901.00	\$31.00	\$44,671.00	\$45.00	\$64,845.00
23	5-04	HMA Cl. 1/2 In. PG 58H-22	1042.00	TON	\$117.00	\$121,914.00	\$142.00	\$147,964.00	\$125.00	\$130,250.00
24	5-04	HMA Cl. 1 In. PG 58H-22	536.00	TON	\$140.00	\$75,040.00	\$184.00	\$98,624.00	\$135.00	\$72,360.00
25	5-04	HMA Cl. 3/8 In. PG 58H-22	173.00	TON	\$154.00	\$26,642.00	\$168.00	\$29,064.00	\$175.00	\$30,275.00
26	5-04	Planing Bituminous Pavement	5600.00	SY	\$7.00	\$39,200.00	\$10.00	\$56,000.00	\$3.79	\$21,224.00
27	5-08	Colored Stamped Cement Concrete	293.00	SY	\$175.00	\$51,275.00	\$1,124.00	\$329,332.00	\$163.00	\$47,759.00
28	7-04	Solid Wall PVC Storm Pipe, SDR-35, 12 In. Diam.	310.00	LF	\$106.00	\$32,860.00	\$83.00	\$25,730.00	\$182.00	\$56,420.00

Schedule: A Prepared By	on: CP2315, R Stree - Fund - Roadway /: City of Auburn arch 21, 2024	t SE Preservation - 33rd St SE	to 37th Way SE ,	24-09	Tucci & Sons Ind 4224 Waller Roa Tacoma, WA 984	nd	Ceccanti Inc. 4116 Brookdale Tacoma, WA 984		ICON Materials 1508 Valentine A Pacific, WA 9804	
Item #	Sec #	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
29	7-04	Ductile Iron Pipe, Special Class 52, Storm Pipe, 12 In. Diam.	35.00	LF	\$190.00	\$6,650.00	\$125.00	\$4,375.00	\$241.00	\$8,435.00
30	7-04	Storm Sewer Television Inspection	345.00	LF	\$4.80	\$1,656.00	\$4.00	\$1,380.00	\$4.00	\$1,380.00
31	7-04	Reducer Connection	5.00	EA	\$475.00	\$2,375.00	\$1,684.00	\$8,420.00	\$7,500.00	\$37,500.00
32	7-05	Catch Basin Type 1	9.00	EA	\$3,000.00	\$27,000.00	\$1,607.00	\$14,463.00	\$2,352.00	\$21,168.00
33	7-05	Manhole Ring and Solid Cover	4.00	EA	\$2,000.00	\$8,000.00	\$1,025.00	\$4,100.00	\$1,200.00	\$4,800.00
34	7-05	Catch Basin Type 2 48 In. Diam.	2.00	EA	\$6,750.00	\$13,500.00	\$6,550.00	\$13,100.00	\$7,500.00	\$15,000.00
35	7-05	Adjust Manhole	4.00	EA	\$925.00	\$3,700.00	\$777.00	\$3,108.00	\$1,250.00	\$5,000.00
36	7-08	Pipe Foundation Material	93.00	TON	\$67.00	\$6,231.00	\$36.00	\$3,348.00	\$72.00	\$6,696.00
37	7-08	Pipe Zone Bedding	157.00	TON	\$57.00	\$8,949.00	\$30.00	\$4,710.00	\$63.00	\$9,891.00
38	7-08	Select Pipe Trench Backfill	103.00	TON	\$63.00	\$6,489.00	\$30.00	\$3,090.00	\$57.00	\$5,871.00
39	7-08	Controlled Density Fill (CDF) for Filling Pipe	3.00	CY	\$2,500.00	\$7,500.00	\$414.00	\$1,242.00	\$4,032.00	\$12,096.00
40	7-09	Connect to Existing Water Main	2.00	EA	\$4,500.00	\$9,000.00	\$2,200.00	\$4,400.00	\$5,096.00	\$10,192.00
41	7-09	Special Class 52 Ductile Iron Pipe for Water Main, 6 In. Diam.	40.00	LF	\$250.00	\$10,000.00	\$278.00	\$11,120.00	\$162.00	\$6,480.00
42	7-12	Adjust Valve Box	10.00	EA	\$925.00	\$9,250.00	\$520.00	\$5,200.00	\$941.00	\$9,410.00

Schedule: A Prepared By	on: CP2315, R Stro - Fund - Roadwa ⁄: City of Auburn arch 21, 2024	eet SE Preservation - 33rd St SE y	to 37th Way SE ,	24-09	Tucci & Sons In 4224 Waller Roa Tacoma, WA 98	ad	Ceccanti Inc. 4116 Brookdale Tacoma, WA 984		ICON Materials 1508 Valentine A Pacific, WA 9804	
Item #	Sec #	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
43	7-15	Replace Water Meter Box and Adjust Lid to Grade	10.00	EA	\$1,100.00	\$11,000.00	\$830.00	\$8,300.00	\$924.00	\$9,240.00
44	7-15	Water Service Connection ³ / ₄ in. Meter with 1 in. Diam. Service Line	1.00	EA	\$6,400.00	\$6,400.00	\$6,182.00	\$6,182.00	\$4,200.00	\$4,200.00
45	8-01	TESC Plan	1.00	LS	\$300.00	\$300.00	\$375.00	\$375.00	\$180.00	\$180.00
46	8-01	Erosion/Water Pollution Control	5000.00	EST	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
47	8-01	Inlet Protection	21.00	EA	\$120.00	\$2,520.00	\$67.00	\$1,407.00	\$36.00	\$756.00
48	8-01	Silt Fence	300.00	LF	\$7.50	\$2,250.00	\$4.00	\$1,200.00	\$13.50	\$4,050.00
49	8-01	General Permit Documentation Compliance	1.00	LS	\$1,000.00	\$1,000.00	\$2,490.00	\$2,490.00	\$6,000.00	\$6,000.00
50	8-01	ESC Lead	45.00	DAY	\$30.00	\$1,350.00	\$73.00	\$3,285.00	\$60.00	\$2,700.00
51	8-02	Roadside Restoration	30000.00	EST	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00
52	8-02	PSIPE Arctostaphylos uva ursi 'Point Reyes' #1 Cont	1386.00	EA	\$19.00	\$26,334.00	\$15.00	\$20,790.00	\$16.50	\$22,869.00
53	8-02	PSIPE Lavandula angustifolia 'Hidcote Blue' #1 Cont	132.00	EA	\$22.00	\$2,904.00	\$18.00	\$2,376.00	\$20.00	\$2,640.00
54	8-02	PSIPE Nandina domestica ' Gulfstream' #1 Cont	99.00	EA	\$22.00	\$2,178.00	\$21.00	\$2,079.00	\$20.00	\$1,980.00

Schedule: A Prepared By	on: CP2315, R Stro - Fund - Roadwa r: City of Auburn arch 21, 2024	eet SE Preservation - 33rd St SE y	to 37th Way SE ,	24-09	Tucci & Sons In 4224 Waller Ro Tacoma, WA 98	ad	Ceccanti Inc. 4116 Brookdale Tacoma, WA 984		ICON Materials 1508 Valentine A Pacific, WA 9804	
Item #	Sec #	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
55	8-02	PSIPE Nassella tenuissima #1 Cont	132.00	EA	\$22.00	\$2,904.00	\$17.00	\$2,244.00	\$20.00	\$2,640.00
56	8-02	Bark Mulch	59.00	CY	\$75.00	\$4,425.00	\$85.00	\$5,015.00	\$67.00	\$3,953.00
57	8-02	Fine Compost	65.00	CY	\$75.00	\$4,875.00	\$98.00	\$6,370.00	\$67.00	\$4,355.00
58	8-02	Topsoil Type A	98.00	CY	\$75.00	\$7,350.00	\$75.00	\$7,350.00	\$67.00	\$6,566.00
59	8-02	Seeded Lawn Installation	67.00	SY	\$2.50	\$167.50	\$9.00	\$603.00	\$2.25	\$150.75
60	8-02	Project Area Weed and Pest Control	5000.00	EST	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
61	8-03	Cement Conc. Traffic Curb and Gutter	2705.00	LF	\$45.00	\$121,725.00	\$23.00	\$62,215.00	\$24.00	\$64,920.00
62	8-04	Cement Conc. Traffic Curb	338.00	LF	\$45.00	\$15,210.00	\$27.00	\$9,126.00	\$30.00	\$10,140.00
63	8-04	Cement Conc. Pedestrian Curb - Variable Height	548.00	LF	\$50.00	\$27,400.00	\$30.00	\$16,440.00	\$32.00	\$17,536.00
64	8-06	Residential Driveway Apron	51.00	SY	\$140.00	\$7,140.00	\$66.00	\$3,366.00	\$84.00	\$4,284.00
65	8-09	Raised Pavement Markers	97.00	EA	\$14.00	\$1,358.00	\$12.00	\$1,164.00	\$11.00	\$1,067.00
66	8-12	Chain Link Fence Type 6	14.00	LF	\$110.00	\$1,540.00	\$77.00	\$1,078.00	\$120.00	\$1,680.00
67	8-13	Monument Type A (Modified)	5.00	EA	\$800.00	\$4,000.00	\$3,318.00	\$16,590.00	\$728.00	\$3,640.00
68	8-14	Cement Conc. Sidewalk	715.00	SY	\$90.00	\$64,350.00	\$54.00	\$38,610.00	\$53.00	\$37,895.00

Schedule: A Prepared By	on: CP2315, R Stre Fund - Roadway r: City of Auburn arch 21, 2024	eet SE Preservation - 33rd St SE y	to 37th Way SE ,	24-09	Tucci & Sons In 4224 Waller Roa Tacoma, WA 98	ad	Ceccanti Inc. 4116 Brookdale Tacoma, WA 98		ICON Materials 1508 Valentine A Pacific, WA 9804	
Item #	Sec #	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
69	8-14	Cement Conc. Curb Ramp Type Perpendicular	2.00	EA	\$3,000.00	\$6,000.00	\$2,315.00	\$4,630.00	\$2,246.00	\$4,492.00
70	8-14	Cement Conc. Curb Ramp Type Single Direction	16.00	EA	\$2,700.00	\$43,200.00	\$3,100.00	\$49,600.00	\$2,246.00	\$35,936.00
71	8-18	Mailbox Support Type 1	1.00	EA	\$615.00	\$615.00	\$1,040.00	\$1,040.00	\$600.00	\$600.00
72	8-18	Mailbox Support Type 2	1.00	EA	\$615.00	\$615.00	\$1,555.00	\$1,555.00	\$600.00	\$600.00
73	8-20	Illumination System, Complete	1.00	LS	\$260,000.00	\$260,000.00	\$235,400.00	\$235,400.00	\$254,240.00	\$254,240.00
74	8-20	RRFB System Foundations and Conduit	1.00	LS	\$14,000.00	\$14,000.00	\$12,450.00	\$12,450.00	\$13,440.00	\$13,440.00
75	8-20	Signal Interconnect System, Complete	1.00	LS	\$41,000.00	\$41,000.00	\$37,330.00	\$37,330.00	\$40,320.00	\$40,320.00
76	8-21	Permanent Signing	1.00	LS	\$11,500.00	\$11,500.00	\$15,555.00	\$15,555.00	\$22,344.00	\$22,344.00
77	8-22	Plastic Crosswalk Line	800.00	SF	\$14.00	\$11,200.00	\$9.00	\$7,200.00	\$7.00	\$5,600.00
78	8-22	Plastic Traffic Arrow	9.00	EA	\$275.00	\$2,475.00	\$362.00	\$3,258.00	\$448.00	\$4,032.00
79	8-22	Paint Line	1980.00	LF	\$1.75	\$3,465.00	\$2.00	\$3,960.00	\$1.00	\$1,980.00
80	8-22	Plastic Stop Line	170.00	LF	\$12.00	\$2,040.00	\$14.00	\$2,380.00	\$10.00	\$1,700.00
81	8-23	Temporary Misc. Pavement Markings - Short Duration	30.00	EA	\$24.00	\$720.00	\$207.00	\$6,210.00	\$14.00	\$420.00

Bid Tabulation: CP2315, R Street SE Preservation - 33rd St SE to 37th Way SE , 24-09 Schedule: A - Fund - Roadway Prepared By: City of Auburn Bid Date: March 21, 2024			4224 Waller Road		Ceccanti Inc. 4116 Brookdale Rd East Tacoma, WA 98446		ICON Materials 1508 Valentine Ave SE Pacific, WA 98047			
tem #	Sec #	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
32	8-23	Temporary Pavement Marking - Short Duration	15000.00	LF	\$0.50	\$7,500.00	\$1.00	\$15,000.00	\$0.38	\$5,700.00
					Subtotal	\$2,201,723.00	Subtotal	\$2,244,300.00	Subtotal	\$1,851,594.00
					Tax	\$0.00	Tax	\$0.00	Tax	\$0.00
					Total	\$2,201,723.00	Total	\$2,244,300.00	Total	\$1,851,594.00

Bid Tabulation - Schedule A - Fund - Roadway Summary

Project: CP2315, R Street SE Preservation - 33rd St SE to 37th Way SE, 24-09

Schedule: A - Fund - Roadway Prepared By: City of Auburn Bid Date: March 21, 2024

W/O Tax

Inc. Tax

ENGINEER'S ESTIMATE: \$1,846,996.00 \$1,846,996.00

AVERAGE BID AMOUNT: \$2,042,075.24 \$2,042,075.24

		Basic BID Amount	Total BID Amount	Total BID Spread \$	Total BID Spread %
LOW BIDDER:	ICON Materials	\$1,851,594.00	\$1,851,594.00	\$4,598.00	0.25%
Second Bidder:	Active Construction Inc (ACI)	\$1.877.571.69	\$1,877,571.69	\$30,575.69	1.66%

	Basic BID (Tax not Included)
1. Active Construction Inc (ACI)	\$1,877,571.69
2. Reed Trucking & Excavating Inc.	\$2,035,187.50
3. Tucci & Sons Inc.	\$2,201,723.00
4. Ceccanti Inc.	\$2,244,300.00
5. ICON Materials	\$1,851,594.00

Bid Tabulation: CP2315, R Street SE Preservation - 33rd St SE to 37th Way SE , 24-09 Schedule: B - Fund - Stormwater & Water Prepared By: City of Auburn Bid Date: March 21, 2024			Engineer's Estimate		Active Construction Inc (ACI) PO BOX 430 Puyallup, WA 98371		Reed Trucking & Excavating Inc. 11616 24th Ave E Tacoma, WA 98445			
Item #	Sec #	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
83	1-04	Minor Change	15000.00	EST	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
84	1-05	Construction Record Drawings (Minimum Bid \$500)	1.00	LS	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
85	1-07	Utility Potholing	15.00	EA	\$400.00	\$6,000.00	\$619.00	\$9,285.00	\$250.00	\$3,750.00
86	1-09	Mobilization	1.00	LS	\$35,100.00	\$35,100.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00
87	1-10	Project Temporary Traffic Control	1.00	LS	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00
88	2-02	Removal of Asphalt Pavement	640.00	SY	\$8.00	\$5,120.00	\$14.00	\$8,960.00	\$12.00	\$7,680.00
89	2-09	Shoring or Extra Excavation Class B	4845.00	SF	\$1.00	\$4,845.00	\$0.01	\$48.45	\$1.00	\$4,845.00
90	4-04	Crushed Surfacing Base Course	154.00	TON	\$42.00	\$6,468.00	\$47.50	\$7,315.00	\$40.00	\$6,160.00
91	5-04	HMA Cl. 1/2 In. PG 58H-22	80.00	TON	\$112.00	\$8,960.00	\$129.00	\$10,320.00	\$135.00	\$10,800.00
92	5-04	HMA Cl. 1 In. PG 58H-22	97.00	TON	\$105.00	\$10,185.00	\$130.00	\$12,610.00	\$135.00	\$13,095.00
93	7-04	Solid Wall PVC Storm Pipe, SDR-35, 12 In. Diam.	385.00	LF	\$100.00	\$38,500.00	\$76.00	\$29,260.00	\$125.00	\$48,125.00
94	7-04	Ductile Iron Pipe, Special Class 52, Storm Pipe, 12 In. Diam.	35.00	LF	\$150.00	\$5,250.00	\$125.00	\$4,375.00	\$150.00	\$5,250.00
95	7-04	Solid Wall PVC Storm Pipe, SDR-35, 18 In. Diam.	115.00	LF	\$130.00	\$14,950.00	\$107.00	\$12,305.00	\$125.00	\$14,375.00

Bid Tabulation: CP2315, R Street SE Preservation - 33rd St SE to 37th Way SE, 24-09 Engineer's Estimate Active Construction Inc (ACI) Reed Trucking & Excavating Inc. PO BOX 430 11616 24th Ave E Schedule: B - Fund - Stormwater & Water Prepared By: City of Auburn Puyallup, WA 98371 Tacoma, WA 98445 Bid Date: March 21, 2024 **Unit Price Total Price Unit Price** Item # Sec# Description Quantity Unit **Unit Price Total Price Total Price** 96 7-04 Storm Sewer 535.00 LF \$5.00 \$2,675.00 \$6.50 \$3,477.50 \$15.00 \$8,025.00 Television Inspection 97 7-05 Catch Basin Type 1 1.00 EΑ \$2,100.00 \$2,100.00 \$2,175.00 \$2,175.00 \$2,000.00 \$2,000.00 98 7-05 EΑ Catch Basin Type 2 3.00 \$4,800.00 \$14,400.00 \$4,900.00 \$14,700.00 \$4,500.00 \$13,500.00 48 In. Diam. 99 7-05 Manhole 48 In. 1.00 EΑ \$4,800.00 \$4,800.00 \$6,300.00 \$6,300.00 \$4,500.00 \$4,500.00 Diam. Type 1 7-05 Manhole 60 In. 1.00 100 EΑ \$7,500.00 \$7,500.00 \$8,750.00 \$8,750.00 \$7,000.00 \$7,000.00 Diam. Type 1 101 7-05 Manhole 84 In. 3.00 EΑ \$12,000.00 \$36,000.00 \$21,250.00 \$63,750.00 \$10,000.00 \$30,000.00 Diam. Type 2 102 7-08 Pipe Foundation TON \$45.00 \$6,300.00 \$41.50 \$5,810.00 140.00 \$35.00 \$4,900.00 Material 7-08 103 Pipe Zone Bedding 368.00 TON \$45.00 \$16,560.00 \$44.50 \$16,376.00 \$35.00 \$12,880.00 104 7-08 TON \$35.00 \$9,380.00 \$43.50 Select Pipe Trench 268.00 \$11,658.00 \$35.00 \$9,380.00 Backfill 105 7-08 Imported Pipe 322.00 TON \$40.00 \$12,880.00 \$41.50 \$13,363.00 \$35.00 \$11,270.00 Trench Backfill 106 7-09 Connect to Existing 4.00 EΑ \$3,000.00 \$12,000.00 \$1,975.00 \$7,900.00 \$3,500.00 \$14,000.00 Water Main 107 7-09 Special Class 52 40.00 LF \$100.00 \$4,000.00 \$192.00 \$7,680.00 \$125.00 \$5,000.00 Ductile Iron Pipe for Water Main, 6 In. Diam. LF 108 7-09 Special Class 53 110.00 \$100.00 \$11,000.00 \$154.00 \$16,940.00 \$150.00 \$16,500.00 Ductile Iron Pipe for Water Main, 8 In. Diam.

Bid Tabulation: CP2315, R Street SE Preservation - 33rd St SE to 37th Way SE , 24-09 Schedule: B - Fund - Stormwater & Water Prepared By: City of Auburn Bid Date: March 21, 2024			Engineer's Estimate		Active Construction Inc (ACI) PO BOX 430 Puyallup, WA 98371		Reed Trucking & Excavating Inc. 11616 24th Ave E Tacoma, WA 98445			
Item #	Sec #	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
109	7-09	Special Class 52 Ductile Iron Pipe for Water Main, 12 In. Diam.	160.00	LF	\$160.00	\$25,600.00	\$175.00	\$28,000.00	\$200.00	\$32,000.00
110	7-09	Cased Crossing, 6 In. Diam. Water Main	20.00	LF	\$160.00	\$3,200.00	\$329.00	\$6,580.00	\$150.00	\$3,000.00
111	7-09	Cased Crossing, 8 In. Diam. Water Main	34.00	LF	\$180.00	\$6,120.00	\$273.00	\$9,282.00	\$150.00	\$5,100.00
112	7-09	Cased Crossing, 12 In. Diam. Water Main	110.00	LF	\$200.00	\$22,000.00	\$345.00	\$37,950.00	\$175.00	\$19,250.00
113	7-12	Gate Valve 8 In. Diam.	2.00	EA	\$1,800.00	\$3,600.00	\$2,550.00	\$5,100.00	\$2,500.00	\$5,000.00
114	7-12	Gate Valve 12 In. Diam.	4.00	EA	\$2,400.00	\$9,600.00	\$4,400.00	\$17,600.00	\$4,250.00	\$17,000.00
115	7-15	Water Service Connection ³ / ₄ in. Meter with 1 in. Diam. Service Line	1.00	EA	\$3,000.00	\$3,000.00	\$5,050.00	\$5,050.00	\$4,000.00	\$4,000.00
116	8-01	Erosion/Water Pollution Control	1500.00	EST	\$1.00	\$1,500.00	\$1.00	\$1,500.00	\$1.00	\$1,500.00
117	8-01	ESC Lead	15.00	DAY	\$60.00	\$900.00	\$1.00	\$15.00	\$50.00	\$750.00
					Subtotal	\$385,993.00	Subtotal	\$419,934.95	Subtotal	\$358,135.00
					Tax	\$39,371.29	Tax	\$42,833.36	Tax	\$36,529.77
					Total	\$425,364.29	Total	\$462,768.31	Total	\$394,664.77

ICON Materials Bid Tabulation: CP2315, R Street SE Preservation - 33rd St SE to 37th Way SE, 24-09 Tucci & Sons Inc. Ceccanti Inc. 4224 Waller Road 4116 Brookdale Rd East 1508 Valentine Ave SE Schedule: B - Fund - Stormwater & Water Prepared By: City of Auburn Tacoma, WA 98443 Tacoma, WA 98446 Pacific, WA 98047 Bid Date: March 21, 2024 **Unit Price Unit Price** Item # Sec# Description Quantity Unit **Unit Price Total Price Total Price Total Price** 83 1-04 Minor Change 15000.00 EST \$1.00 \$15,000.00 \$1.00 \$15,000.00 \$1.00 \$15,000.00 84 1-05 1.00 LS Construction Record \$500.00 \$500.00 \$865.00 \$865.00 \$500.00 \$500.00 Drawings (Minimum Bid \$500) 85 **Utility Potholing** 15.00 1-07 EΑ \$496.00 \$7,440.00 \$575.00 \$8,625.00 \$756.00 \$11,340.00 86 1-09 1.00 LS \$5,000.00 \$27,500.00 \$180,000.00 Mobilization \$5,000.00 \$27,500.00 \$180,000.00 87 LS \$50,000.00 1-10 **Project Temporary** 1.00 \$50,000.00 \$21,222.00 \$21,222.00 \$195,000.00 \$195,000.00 Traffic Control SY 88 2-02 Removal of Asphalt 640.00 \$7.80 \$4,992.00 \$7.00 \$4,480.00 \$48.00 \$30,720.00 Pavement 89 2-09 Shoring or Extra 4845.00 SF \$0.25 \$1,211.25 \$0.40 \$1,938.00 \$1.25 \$6,056.25 Excavation Class B 90 4-04 Crushed Surfacing 154.00 TON \$90.00 \$13,860.00 \$32.00 \$4,928.00 \$42.00 \$6,468.00 Base Course 91 5-04 HMA Cl. 1/2 In. PG 80.00 TON \$186.00 \$14,880.00 \$179.00 \$14,320.00 \$276.00 \$22,080.00 58H-22 92 5-04 97.00 TON \$20,758.00 \$165.00 \$196.00 HMA Cl. 1 In. PG 58H-\$214.00 \$16,005.00 \$19,012.00 22 93 7-04 Solid Wall PVC Storm 385.00 LF \$106.00 \$40,810.00 \$83.00 \$31,955.00 \$175.00 \$67,375.00 Pipe, SDR-35, 12 In. Diam. 94 7-04 Ductile Iron Pipe. 35.00 LF \$190.00 \$6,650.00 \$125.00 \$4,375.00 \$231.00 \$8,085.00 Special Class 52, Storm Pipe, 12 In. Diam. 95 7-04 Solid Wall PVC Storm 115.00 LF \$150.00 \$17,250.00 \$122.00 \$210.00 \$24,150.00 \$14,030.00

Pipe, SDR-35, 18 In.

Diam.

ICON Materials Bid Tabulation: CP2315, R Street SE Preservation - 33rd St SE to 37th Way SE, 24-09 Tucci & Sons Inc. Ceccanti Inc. 4224 Waller Road 4116 Brookdale Rd East 1508 Valentine Ave SE Schedule: B - Fund - Stormwater & Water Prepared By: City of Auburn Tacoma, WA 98443 Tacoma, WA 98446 Pacific, WA 98047 Bid Date: March 21, 2024 **Unit Price Unit Price Unit Price** Item # Sec# Description Quantity Unit **Total Price Total Price Total Price** 96 7-04 Storm Sewer Television 535.00 LF \$2.40 \$1,284.00 \$4.00 \$2,140.00 \$4.00 \$2,140.00 Inspection 97 7-05 Catch Basin Type 1 1.00 EΑ \$3,000.00 \$3,000.00 \$1,610.00 \$1,610.00 \$2,240.00 \$2,240.00 98 7-05 3.00 EΑ \$5,000.00 \$15,000.00 \$6,510.00 \$17,640.00 Catch Basin Type 2 48 \$19,530.00 \$5,880.00 In. Diam. 99 7-05 1.00 \$6,000.00 Manhole 48 In. Diam. EΑ \$6,000.00 \$12,307.00 \$12,307.00 \$7,448.00 \$7,448.00 Type 1 100 7-05 Manhole 60 In. Diam. 1.00 EΑ \$8,000.00 \$8,000.00 \$18,872.00 \$18,872.00 \$11,788.00 \$11,788.00 Type 1 \$64,008.00 101 7-05 Manhole 84 In. Diam. 3.00 EΑ \$20,000.00 \$60,000.00 \$22,100.00 \$66,300.00 \$21,336.00 Type 2 102 7-08 Pipe Foundation \$9,800.00 140.00 TON \$67.00 \$9,380.00 \$36.00 \$5,040.00 \$70.00 Material 103 7-08 Pipe Zone Bedding 368.00 TON \$62.00 \$22,816.00 \$30.00 \$11,040.00 \$60.00 \$22,080.00 104 7-08 Select Pipe Trench 268.00 TON \$43.00 \$11,524.00 \$30.00 \$8,040.00 \$54.00 \$14,472.00 Backfill 105 7-08 322.00 \$19,320.00 \$30.00 Imported Pipe Trench TON \$60.00 \$9,660.00 \$54.00 \$17,388.00 Backfill 106 7-09 Connect to Existing 4.00 EΑ \$3,000.00 \$12,000.00 \$2,142.00 \$8,568.00 \$4,704.00 \$18,816.00 Water Main LF 107 7-09 Special Class 52 40.00 \$250.00 \$10,000.00 \$157.00 \$6,280.00 \$179.00 \$7,160.00 Ductile Iron Pipe for Water Main, 6 In. Diam. 108 7-09 Special Class 53 110.00 LF \$175.00 \$19,250.00 \$162.00 \$204.00 \$22,440.00 \$17,820.00 Ductile Iron Pipe for Water Main, 8 In.

Diam.

ICON Materials Bid Tabulation: CP2315, R Street SE Preservation - 33rd St SE to 37th Way SE, 24-09 Tucci & Sons Inc. Ceccanti Inc. 4224 Waller Road 4116 Brookdale Rd East 1508 Valentine Ave SE Schedule: B - Fund - Stormwater & Water Prepared By: City of Auburn Tacoma, WA 98443 Tacoma, WA 98446 Pacific, WA 98047 Bid Date: March 21, 2024 **Unit Price** Item # Sec # Description Quantity Unit **Unit Price Total Price Total Price Unit Price Total Price** 109 7-09 Special Class 52 160.00 LF \$200.00 \$32,000.00 \$223.00 \$35,680.00 \$241.00 \$38,560.00 Ductile Iron Pipe for Water Main, 12 In. Diam. 110 7-09 Cased Crossing, 6 In. 20.00 LF \$200.00 \$4,000.00 \$311.00 \$6,220.00 \$281.00 \$5,620.00 Diam. Water Main 111 7-09 Cased Crossing, 8 In. 34.00 LF \$225.00 \$311.00 \$12,886.00 \$7,650.00 \$10,574.00 \$379.00 Diam. Water Main 112 7-09 Cased Crossing, 12 In. 110.00 LF \$347.00 \$250.00 \$27,500.00 \$38,170.00 \$389.00 \$42,790.00 Diam. Water Main 113 7-12 Gate Valve 8 In. Diam. 2.00 EΑ \$2,250.00 \$4,500.00 \$1,920.00 \$3,840.00 \$3,640.00 \$7,280.00 \$23,408.00 114 7-12 Gate Valve 12 In. Diam. 4.00 EΑ \$4,000.00 \$16,000.00 \$3,585.00 \$14,340.00 \$5,852.00 115 7-15 Water Service 1.00 EΑ \$3,696.00 \$5,000.00 \$5,000.00 \$3,495.00 \$3,495.00 \$3,696.00 Connection 3/4 in. Meter with 1 in. Diam. Service Line 116 8-01 Erosion/Water 1500.00 **EST** \$1.00 \$1,500.00 \$1.00 \$1,500.00 \$1.00 \$1,500.00 Pollution Control 8-01 117 **ESC Lead** 15.00 DAY \$30.00 \$450.00 \$73.00 \$1,095.00 \$60.00 \$900.00 Subtotal \$494,525.25 Subtotal \$467,364.00 Subtotal \$939,846.25 Tax \$50,441.58 Tax \$47,671.13 Tax \$95,864.32 \$544,966.83 Total \$515,035.13 \$1,035,710.57 Total Total

Bid Tabulation - Schedule B - Fund - Stormwater & Water Summary

Project: CP2315, R Street SE Preservation - 33rd St SE to 37th Way SE, 24-09

Schedule: B - Fund - Stormwater & Water

Prepared By: City of Auburn Bid Date: March 21, 2024

 W/O Tax
 Inc. Tax

 ENGINEER'S ESTIMATE:
 \$385,993.00
 \$425,364.29

AVERAGE BID AMOUNT: \$535,961.09 \$590,629.12

		Basic BID Amount	Total BID Amount	Total BID Spread \$	Total BID Spread %
LOW BIDDER:	Reed Trucking & Excavating Inc.	\$358,135.00	\$394,664.77	-\$30,699.52	-7.22%
Second Bidder:	Active Construction Inc (ACI)	\$419,934.95	\$462,768.31	\$37,404.03	8.79%

	Basic BID (Tax not Included)
1. Active Construction Inc (ACI)	\$419,934.95
2. Reed Trucking & Excavating Inc.	\$358,135.00
3. Tucci & Sons Inc.	\$494,525.25
4. Ceccanti Inc.	\$467,364.00
5. ICON Materials	\$939,846.25

Bid Tabulation - Bid Totals Summary

Project: CP2315, R Street SE Preservation - 33rd St SE to 37th Way SE, 24-09

Prepared By: City of Auburn Bid Date: March 21, 2024

W/O Tax Inc. Tax

ENGINEER'S ESTIMATE: \$2,232,989.00 \$2,272,360.29

AVERAGE BID AMOUNT: \$2,578,036.33 \$2,632,704.36

		Basic BID Amount	Total BID Amount	Total BID Spread \$	Total BID Spread %
LOW BIDDER:	Active Construction Inc (ACI)	\$2,297,506.64	\$2,340,340.00	\$67,979.72	2.99%
Second Bidder:	Reed Trucking & Excavating Inc.	\$2,393,322.50	\$2,429,852.27	\$157,491.98	6.93%

	Basic BID (Tax not included)	Total BID (Including tax)
1. Active Construction Inc (ACI)	\$2,297,506.64	\$2,340,340.00
2. Reed Trucking & Excavating Inc.	\$2,393,322.50	\$2,429,852.27
3. Tucci & Sons Inc.	\$2,696,248.25	\$2,746,689.83
4. Ceccanti Inc.	\$2,711,664.00	\$2,759,335.13
5. ICON Materials	\$2,791,440.25	\$2,887,304.57

NOTE: An evaluation of whether a bidder is responsible or non-responsible was only made for the low bidder. This does not indicate, one way or the other, how other bidders would be considered if they were the low bidder.